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P83 Adesar =1*1=60%*60=3600 a.e.

2PBE DBVS=|+|+1+1=41=4%60=240 .

S00BE WBVE =|+b-+1+b=2I+2b=2b+2*80=2b+160 e,
P8 ) BHBE DIVIM FDTADDTEOT
2b+160=240 = 2b=240-160=80 .. b=40 e,

s00BE Adeerr =1*b=80*40=3200 (a)

3600>3200
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16.1.2. 3eedhd 3285 030 W 38,8 B TO SpedIWT ¥3NnY 2305500 25oricdpods. B0 S5 endd BB 20w DI
3323e300037. &8 DHI0d DIwe oI B, VB NDBTIeD. 85 RIS, VT SBVW WBT Deesdpondd, Tr.55003 wed),
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(395959008 a3 dAeear=|*|=25%25=625 23.cbe.

€800395900 D0 Adenr=1*b=20*15=300 23.cbe.

Beee3B deer=625-300=325 a3.cbe.

:f’afaeasdaig( eae;’)de)&@ 3BT Srews I, = SBeedV JAeer *B3=325*55
=17,875 de.
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AAeeE D) WBYISNYRY, BoHBAO. [8ab33 ovg = 20 - (3.5 + 3.5)=13 cbe.]

ClalaaNepirle/aRArIgIA @aﬁé(r)= % m

e300B9T900 o [=13m,b=7m
200838 AR =B0HBT AL +OTH DONYOS VB BTeBTT NG IAEI
1,22, 7,7
=(I*b)+ 2*— r 13*7){*2*-*
=(I*b)+{2* > mr’}=( RF2RSHEE D E D)
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—13*7+7—91+38 .5 =129.5 ..

Bed WBYS = BoLBT WBYS +0TR) DONTOT ¥ZES)T9S0T oNE DISYS

—(2D)+{2*1r} = (2*13)+{*2*272 x 126422248 cve.
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00T BB ddecar =b*h=24*10=240 23. Fo.cbe.
S8 Adecar=1080 23.c0e.=1080*100*100 23. Fo.cbe
23e5a8 BNy B0 = ST IRREE + 20T ToRBOT e
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240
S0d, Zp3Ar Tz 45,000 senriwd Jem

=45,000
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(a) (b) (c) —2.8 cn—i

N o

1

—2.8 cm—i

Q0T Swede BFNYOS BTFDBA @a:saszr:% =1.4cm
(a) BOIT B3 =5F3)BT S0R+)BT &9 =nr+2r=%*1.4+2*1.4=7.2 cm

(b) B30T Bed =ugrs3T S0D +e300T9ZeCBoSDHS 2oria a§fadd)é=nr+1.5+2.8+1.5=§*1.4+1.5+2.8+1.5=10.2cm

(c) B80T Be3 =583 BOY +30BDIT0SDHS N TR Jed doéri%b=nr+2+2=§ *1.4+4=8.4cm

33, (b) adbaody ®IS BT W¥OTIeST 8Ho03 TR, ARBIIST.






